
18.98
482.09

1.50
38.10

.62
15.75

2.25
57.12

2.13
53.98

6.67
169.34

3.50
88.90

6-32 FLAT HEAD SCREWS
TYP. 4 PLCS.

4-40 FLAT HEAD SCREWS
FOR MOUNTING EXTENDER

KIT TOP TO RECEIVER.
TYP. 4 PLCS.

10-32 THRED X .50 DEEP TO BE USED
WITH SCREWS PROVIDED WITH RECEIVER

10-32 X .75 BUTTON HEAD SOCKET SCREW
TO SECURE TO RACK.

4 PLCS.

M6 X 20 CAP SCREWS MAY ALSO BE USED
(NOT INCLUDED)

2. WEIGHT: 1.44 LBS. [0.65 kg]

3. MATERIAL: ALUMINUMN

4. FINISH: BLACK ANODIZE

REV DESCRIPTION
REVISIONS

DATE ENGR

A

DO NOT SCALE DRAWING

B

C

D

A

B

C

D

4 3 2 1

4 3 2 1

B

NOTES:
1. FOR APPLICATION USE & CARE INFORMATION CONSULT VPC USERS GUIDE @WWW.VPC.COM

R GARMANINCORPORATED ECN #09-310-0066

THE INFORMATION CONTAINED HEREIN IS THE EXCLUSIVE PROPERTY OF VIRGINIA PANEL CORPORATION 
AND IS SUBMITTEDFOR USE BY THE CUSTOMER ONLY. THE DATA SHALL NOT BE DUPLICATED, USED, 
OR DISCLOSED IN WHOLE OR IN PART FOR ANY PURPOSE OTHER THAN TO MAINTAIN THE EQUIPMENT 
PROVIDED. CONSULT WITH VIRGINIA PANEL CORPORATION ENGINEERING IF MORE DETAIL IS REQUIRED.

310113519 SHEET 1 OF 1

REV
B310113519

 CUSTOMER DRAWING

WWW.VPC.COM
VIRGINIA PANEL CORPORATION

G12X EXTENDER KIT
1.5"

18117
CAGE CODESIZE

C
1:2SCALE:

[MILLIMETERS]
     INCHES

DIMENSIONS ARE SHOWN AS:

1/28/09

DWG.NO.

6/11/09


